% X

27N o TMERT — A7 Y w7 IEA300

R
220
EE !
L BN aw s @ A
NO | &% h % | i (A £k i & EA300
58 | 2 7 U v U N — | AEE A E OB @ EOE E 85V
6S | % A D) N 7 ¢2.1 LI (12 %) E K @ EOE R 300A
17 |8 B ¥ & H x ¥ |5/16WX12 T O | = 60%
18 | M ¥ M O F | 011X30 UMEXAER) B K7 T v TG 35 mm
19 |[L & KX A L v F|4m w O O A # 38~50sq
‘ EAER R V(2 ) ERERHEQ ) ! S B =
20 |#0 M & v v b 220X 25X 79
NALUFQA ) 2EXIEXE
21 | E # = & # N — | EPDM (&= 24) £ = 570g
22 | F W = & #H N — | EPDM (&= 24) o g B A7 30 A&
5 | % ¥ ik i ¥
- O 7 Y U IMERDZ, R ~DOEY FFiFn
5 | JE 5 i e
- £ B C it
6 |HEfTALEHAFEY vy . o
— @ LRI TRAEDO R VIR
7 iRV NHE S Uy vy
8 X — I F L KEA AR L B
9 |#E £ A N T v b SN EBRT 2 KK S
1 IS ANV R4+ AR Lk KK ARERS2R6TE 5% 53 %
3 | R A A = ~ Tel06—6552— 1501 Fax06—6552—"7007




e X INA AT — A7 1 » 7 /EB-mini
128
] O .
EE 7] (
& BT AR &R A
NO | & ST v Fro| R an ft E] i S EB-mini
58 | A2 7 U v N — B ROk F X vk
6S | * 4 ) N 7 E M E B OE T 85V
17 | & M B & H x V| M8XI12 E M B B OE I 100~330A
18 | M ¥ M O F | 011X30 UMEXAEER) EOR o R 60%
19 |L # X A L v F|4m kK7 T v TG 42 nm
N ‘ EAEGAMEQ ) NFALTFA ) E S
20 | ¥ M £ B v b o W R W F
MG R I, R TnET, TN-50-8
21 | B & =2 & B N = w O O A # 22~38sq
22 | F ¥ o= A o N — O T -
125X 40X 67
5 | % ¥ 1k v + ERXEXEX
5 | JE &5 bl 1 E: iy 450¢g
6 | ARALVFNHEY vy i @) B 7 30 A
T | fEAARALY RS Uy Ty . B
O COMEEMZ LV 5ERICE Y FTE, Bl
8 H— I F LEif AL M| Ry AR 6X10
- BHb e, BELEFRIZELEALEHY THA,
9 (MM XA A v HF v b N
@ EiEFIT T EAED w1k
NRV M gk
1 INA ANY RIL+3 4 ARV B .
BN M8 SN ERBR L EKRKX S &
3 | AN A 2 B ~ | MHE 8k KRTTREXREB6THS5%53%

Tel06—6552—1501 Fax06—6552—7007



7

NA AT —A 27 U v 7 TEB300

& B EER

NO | i & Za Fro| &b s {an =S
58 | A 7 U v T N —

6S | = 7 U v 7

17 | & #H B & H x ¥ | M10X12

18 | & # % O H @ E | 011X25 UMEXAER)

19 |L ® X A L v F|5m

BB R V1 ) B REEQ )
NALCFQr) Rk )
AL FHED v v (1)

Rt ARV NS U v v (1 4)

X — 3 kR L A )

21 | B B 2 A A N =

22 | F # o A A N =

5 | % Yook W 7| RE SR
5 | & & Uit +

6 |MifF AL NHFEY v v | M8

7 | MEfEAALEPH S Uy vr | M8

8 2 — I F kA AR L R | M8X18

9 |#M A AT v b

1 INA ANV RIL+23 4 ARV R

NV RV MR EEALR
Ak M« RH R

A - PRI S

&R A
i *F EB300
E o OBt 7 K EAIS
E OB oE E B E 85V
E O oE E B W 300A
EO R %R 60%
B K7 T v TG 50 mm
R Inbi e
Boo® W T
TN-50-8
wOR OB A 38~50sq
L I
- 143X 24X 78
A XIE X & &
& & 630g
#Moo|a 30 A

@ CONMEENCE Y BRIy MCTE | HEfil
‘IO DR IRELAITIZLEAEDLY EH A,
@ TSI T BRI % 2 1

ErvEHLEKAX S
ARTRERRE 6THS5&535

Tel06—6552—1501 Fax06—6552—7007



i

*

NA AT — A7 U 7 /EB300T

43

78

& BT AR &R A
NO | &8 dh £ R | dh in A *F EB300T
58 | 2 X U v U B N — B OO R F X JEAE
6S | % VA ) N 7 E M E B OE T 85V
17 |8 B ¥ ok H O x U E M B B OE I 500A
18 | & M B f H MW & E O i = 60%
19 |L ™ X A v v F - /A AV A ) 50 mm
JEE (1 47) PRI i 1
o MBS W T
N ‘ ffrAR L ST v v (1) R38-8
20 |#H & &£ v v M|
KPRV NS T vy v(Q ) w O O A # 22~38sq
& — X VKRRV R A) S S
147X 24X 78
21 | B = A A N — LEXEXE&
22 | F WM F L H N = #H & 540g
5 | % ¥ 1k i + Woooa Bz 30 A&
5 | JE &5 Vi + | R38-8
6 |MifFTA ALV EFEH¥YY v x| M8
7 WEMAARALFH S Uy iy | M8
8 2 — I F kA AR L R | M8X18
9 | A v v HF v B
1 ) N ME B ST EHLEKRKS R
INA ANV RIL+3 4 ARV R ]
Ak ME « RH R KIRTFRERRE 6THbHHBS &
3 | A 4 A = < | ME  RHI SRR Tel06—6552— 1501 Fax06—6552— 7007




7

2V INA AT — A7 1) v 7 JEB500

180

100

\
& BT AR &R A
NO | &8 dh £ R | dh in A & EB500
58 | 2 X U v U B N — B OO R F X A
6S | % VA ) N 7 E M E B OE T 85V
17 |8 B ¥ ok H O x U E K @ EOE R 500A
18 |8 & ¥ & H M & EOM O fE O 60%
19 |L ™ X A v v F kK27 v 7hE 70 mm
EAE (1 A7) BEE ST
o Boo® W T
N ‘ fiEtE A MY v v (1 7) R60-10
20 |#H & &£ v v M|
WAL NHS T vy ) wOR B A 50~60sq
& — X VKRRV R A) woooom <k
- 180X 25X 100
21 | E @ = A o N — AR XIE X &
22 | F O# T A N — S & 920g
5 | % % 1k b + o g B A7 25 A
5 | JE &5 bl ¥ | R60-10
6 |MifHAALNHEY v v | MIO
7 | BRIV MH S Uy vy | M10
8 4 — I F kA AL | MI0X15
9 R S N R N < I VI
= 37 - D
1 p e | M B8R S BE T KRS
INA AN R)VAS A ARV ] KIEFTAEXRE 6TH5%E 53 %
Ak M« PRHI SRR 7
- Tel06—6552—1501 Fax06—6552— 7007
3 |~ e 2 o ~ | ME RIS




2 N NS RET—AZ VY v 7 EC1000
223
O
—
_ /\
4 N .
4 N\
\
OO @
J {
& L AR L SIS E)
NO | #8 B 4 FR | B Hh ft i & EC1000
5S | A 7 U v 7 oA N — wOoMm OB K JEA
6S | A 7 ) Mg 7 E K om E OB E 85V
17 | & & # k H o x ¥ E K om E OE R 1000A
18 | & M B & H W F £ O & 60%
19 |L ® X 4 v v F kK7 7 v 7 80 mm
JEAE (1 4) PRI i
FiAT AL FED v Q) L R150-16
20 [ # M R OB v bRV IEHSTYIxQ ) B A 120~150sq
H— I F B AL R ) om sF &
HERFRL R B ) SExExEs | o a0Iss
21 | B W =T A N = H & 2610g
22 | F WM F L H N = wWooowm B fr 10 A&
5 | X% v 1k Vit +
5 | JE 5 i + | R150-16
6 |#MifF AL FHFEY v v | M16
7 | KAV EH S Uy vy | M16
8 2 — I F kA A L | M16X45
9 |+ AL NHF v | M6 SV ESREILEKRKX S
1| st s s 2L I N RV B B ARTARERRRE 6THS5%E53%
AV h o ME PRAESRE Tel06—6552— 1501 Fax06—6552— 7007
3 | 4 R =~ | BPED A




E X 2T U TIMERT — A2 U~ 7 /M300

L 142 .

& B fERR ) SIS
NO | # sl % Fro| &6 il ft (3 i % M300
5S | A 7Y v U N — E K om E OB E 85V
6S | A 7 U Ve 7| $2.5 7 — 3R E K om E OE R 300A
17 |8 M # i M = V| 5/16WXI12 E O M 60%
18 | M Bkt M O | $11X30 UMEXAER) kK27 7 v TR 25 mm
19 |L & KX /A v v F|4m B/ A 38~50sq
AR R (2 ) B HEE Q) O S
20 | ¥ M £ B v b 142X 25 X176
NALFQA ) R XE X 5
21 | B #W F & H N = & s 370g
22 | F WM F 4 H N = wooom B fiI 50 A
S B S O 7 U L IIIERD S, B ~DRY (11578
5 | & & Uit + BT
6 | Mt ArPATY Yy @ T TAFED X 1L
7 | MEAAALVEIH S Uy Ty
8 | # — I F VvEEf AR b
9 (MM X N HF v b = MEBERI X KX LS £
1| 7 AN Rk 3 A 2R B KIRHTRERRRE 6 TH 5% 535
3 | A A = < Tel06—6552— 1501 Fax06—6552— 7007




® X ATV TMERT —A7 U » 7/MC300
A
R
N
y
L 147 >
8
& B fERR ) SIS
NO | &8 B Z4 PR A i i & MC300
5S | A 7Y v U N — E K om E OB E 85V
6S | A 7 U Ve 7| $2.5 7 — 3R E K om E OE R 300A
17 |8 M # i M = V| 5/16WXI12 E O M 60%
18 | M Bkt M O | $11X30 UMEXAER) R 7 v 7IE 20 mm
19 |L & KX /A v v F|4m B/ A 22~50sq
wla o & » o AR R (2 ) B HEE Q) O S AT X957
AL T ) R XE X 5
21 | £ W = A X — | EPDM (A= 2) #H s 400g
22 |V # F & H N — | EPDM (Fp= L) wooom B fiI 50 A&
5 | X% v 1k Vit +
@A T7 Y L IIERDZ., B ~DE Y 1172
5 | & & Uit + .
- i B CIRGE
6 |MHRVIATY ORI TR B0 % V15t
7 | MEAAALVEIH S Uy Ty
8 | # — I F VvEEf AR b
9 M AR Ny b v BEHFLEKK S #
1| 7S ANY RS ARV B KERTRERRRE 6 TH 5% 53%
3 | A A = < Tel06—6552—1501 Fax06—6552—"7007




	EA300
	EB-mini
	EB300
	EB300T
	EB500
	EC1000
	M300
	MC300

